

PROCEEDINGS OF THE COCHIN DEVASWOM BOARD

PCR works to Mullakkal Bhagavathy temple 1199 ME - Mullakkal Devaswom Thiruvilwamala group.

Read

- 1. Report of DAC Thiruvilwamala on M2. 3670/23 dt. 20-10-2023
- 2. Note from AE dt. 20-12-2023
- 3. Note from AEE dt. 26-12-2023
- 4. Note from EE dt. 26-12-2023
- 5. Decision of DC dt. 26-12-2023

Order on H1. 1858/23 dt. 26-12-2023

As per the papers cited above an estimate of Rs. 94,500/- (Rupees Ninety four thousand and five hundred only) is passed and sanction is accorded to execute the above work after inviting local quotations.

The sealed quotations should be received in this office on or before 01-01-2024 at 3 P.M. and will be opened at 3.30 P.M. on the same day in the presence of Executive Engineer, Cochin Devaswom Board/higher officials of Cochin Devaswom Board, Thrissur.

The sealed quotations should be addressed to the Executive Engineer, Cochin Devaswom Board, Thrissur and should contain the PAN number of the quotationer.

A copy of the estimate along with notification is herewith forwarded to Devaswom commissioner Devaswom Assistant Commissioner, Thiruvilwamala for exhibiting in their office Notice boards.

(By Order)

Sd/-S. Gopakumar Assistant Engineer

To

Notice Board, AC- Thiruvilwamala CA to DC, EE, AEE, AE, S.F,

//Approved for issue//

Junior Superintendent

TS Register No: 3186/2023-2024 AS Register No:3338/2023-2024

PCR works to Mullakkal Bhagavathy temple for 1199 ME

Abstract Estimate

(Dsor year: 2018,Cost Index Applied for this estimate is 35.59%)

	1 Painting work		
1	13.87.2 White washing with lime to give an even shade :Old work (one or more	e coats)	
	Net Total Quantity	107.000 sqm	
	Say 107.000 sqm @ Rs 12.07 / sqm	Rs 1291,49	
2	13.109.2 Finishing walls with water proofing cement paint of required shade :0 kg/10 sqm) complete.	Nd work (one or more coats @ 2	
	Net Total Quantity	323.000 sqm	
	Say 323.000 sqm @ Rs 69.90 / sqm	Rs 22577.70	
3	13.98.1 Wall painting with plastic emulsion paint of approved brand and manuor more coats on old work	ufactureto give an even shade:(
	Net Total Quantity	272.000 sqm	
	Say 272.000 sqm @ Rs 99.66 / sqm	Rs 27107.52	
4	13.99.1 Other Engineering Organisation Painting with synthetic enamel paint of approved brand and manufacture even shade: One or more coats on old work Net Total Quantity	acture ofrequired colour to give	
	Say 161.000 sqm @ Rs 94.10 / sqm	Rs 15150.10	
5	13.106 Painting (one or more coats) with black Japan paint of approved bran shade.		
	Net Total Quantity	61.000 sqm	
	Say 61.000 sqm @ Rs 85.29 / sqm	Rs 5202.69	
	13.108.1 Distempering with 1st quality acrylic distemper (ready made) having VOCcontent less than 50 gm per of approved manufacturer and of requiredshade and colour complete, as per manufacture specification. One or more coats on old work		
6	Distempering with 1st quality acrylic distemper (ready made) having V of approved manufacturer and of requiredshade and colour co		
6	Distempering with 1st quality acrylic distemper (ready made) having V of approved manufacturer and of requiredshade and colour co		
6	Distempering with 1st quality acrylic distemper (ready made) having V of approved manufacturer and of requiredshade and colour conspecification. One or more coats on old work	omplete, as per manufacture	

TS Register No: 3186/2023-2024

AS Register No:3338/2023-2024

PCR works to Mullakkal Bhagavathy temple for 1199 ME

Abstract Estimate

(Dsor year: 2018,Cost Index Applied for this estimate is 35.59%)

	1 Painting work	
1	13.87.2 White washing with lime to give an even shade :Old work (one or more	e coats)
	Net Total Quantity	107.000 sqm
	Say 107.000 sqm @ Rs 12.07 / sqm	Rs 1291.49
2	13.109.2 Finishing walls with water proofing cement paint of required shade :0 kg/10 sqm) complete.	old work (one or more coats @ 2
	Net Total Quantity	323.000 sqm
	Say 323.000 sqm @ Rs 69.90 / sqm	Rs 22577.70
3	13.98.1 Wall painting with plastic emulsion paint of approved brand and manuor more coats on old work	ufactureto give an even shade:(
	Net Total Quantity	272.000 sqm
	Say 272.000 sqm @ Rs 99.66 / sqm	Rs 27107,52
4	13.99.1 Other Engineering Organisation Painting with synthetic enamel paint of approved brand and manufacture even shade: One or more coats on old work Net total Quantity	acture ofrequired colour to give
	Say 161.000 sqm @ Rs 94.10 / sqm	Rs 15150.10
5	13.106 Painting (one or more coats) with black Japan paint of approved bran shade.	
	Net Total Quantity	61.000 sqm
	Net Total Quantity Say 61.000 sqm @ Rs 85.29 / sqm	61.000 sqm Rs 5202.69
6		Rs 5202.69 OCcontent less than 50 gm pe
6	Say 61.000 sqm @ Rs 85.29 / sqm 13.108.1 Distempering with 1st quality acrylic distemper (ready made) having V of approved manufacturer and of requiredshade and colour co	Rs 5202.69 OCcontent less than 50 gm pe
6	Say 61.000 sqm @ Rs 85.29 / sqm 13.108.1 Distempering with 1st quality acrylic distemper (ready made) having V of approved manufacturer and of requiredshade and colour conspecification. One or more coats on old work	Rs 5202.69 /OCcontent less than 50 gm per manufacture

Net Total Quantity	2.000 Day			
Say 2.000 Day @ Rs 878.78 / Day	Rs 1757.56			
2 Contingencies such as other unforseen items on actuals				
Lump-Sum Total	Rs 637.00			
Se	rvice Tax @ 18.0%			
Service Tax Amoun	t 14400.00			
Total with Service Tax Amoun	94400.00			
Lumpsum for round of	f 100.00			
	TOTAL Rs 94500.00			
Rounded Total Rs 94,500				
Rupees Ninety Four Thousand Five Hundred Only				
Service Tax Amoun Total with Service Tax Amoun Lumpsum for round of	t 14400.00 t 94400.00 f 100.00 TOTAL Rs 94500.00 Rounded Total Rs 94,500			

(Cost Index Applied for this estimate is 35.59%)

Other Engineering Organisations
PRICE